Tr267H278 (H)

777Xﬂ)’b17-'§$x (%?@%B) : Kgﬁg% 95%"'175%40%\
183 HDE A |50 A] MDS A NBC | B%| & Jai
HOE A 02—1 0O3—0 0O3—0 (3]0 1
3790 Y39 kA X1—2 X1—2 0O3—0 112 3
MDS A x0—3 02—1 0O3—0 [2] 1] 2
NBC X0—3 X0—3 X0—3 J0]3 4
2508 BHAEA] DLDHLA | FIIHST [ RTA A | B | & [IEf
BHAEA X1—2 03—0 02—1 21| 2
MLbH A 02—1 0O3—0 02—1 3[0] 1
FIo37 x0—3 x0—3 x0—3 | 0| 3| 4 |¥5>
RTA A X1—2 X1—2 03—-0 J1]12] 3
&R MDS B| ALbHB = B:-BF A | B & |IEfL
MDS B X0—3 X1—2 02—1 112 3
HLbH B 0O3—0 0O2—1 02—1 3[0] 1
= 02—1 x1—2 02—1 21 1] 2
B:-BE A X1—2 X1—2 X1—2 0| 3| 4
4358 CBC A | #DEB | 3390a9B 1o 2/ 47| B8 | & | IEft] ste -4
CBC A 02—1 02—1 02—1 3]0 1
HNDEB X 1—2 02—1 X1—2 112 2 |4-5 12-11=+1
1790vavhB X1—2 xX1—2 02—1 12| 4 |4-5 9-12=-3
ARINAT xX1—2 02—1 xX1—2 112 3 |45 9-11=-
5& N NIVMERYYNLA AL C [TOX/N— Al | & [IEA
NIV x0—3 Xx0—3 03—0 112 3
SHvMLA| O3— 02—1 0O3—0 [ 3]0] 1
MLbhH C 03—-0 xX1—2 0O3—0 | 2] 1] 2
JOoR/A—A | x0—3 x0—3 Xx0—3 o3| 4 |¥—7F>
6 5B +.->—7 | CBCB mLhHh D | RTA B | B| & |IEf
o —7 02—1 Xx0—3 Xx0—3 112 3
CBCB X1—2 X1—2 X0—3 0| 3 4
ML D 03—0 02—1 x1—2 [ 2[1] 2
RTA B 03—-0 | 03—-0 02—1 _13]0] 1
1E8 B35 |ATS5IRAl SWF A TLA7 | B | & [IEfE
Bro57 xX1—2 Xx0—3 x1—2 | 0| 3] 4
ATI9k A 02—1 Xx0—3 X0—3 112 3
SWF A 03—0 0O3—0 02—1 3[o| 1
TILA)T 02—1 03—0 Xx01—2 21 1] 2
8ED SHAM Bl RTA C | D= C | B'BH B | | & |IEf
=HYrh B x0—3 02—1 Xx0—3 112/ 3
RTA C 03—0 0O3—0 X0—3 2 11| 2
HNDE C Xx1—2 x0—3 x1—2 | 0[3] 4
B-BHE B 03-0 Q3-0 0Q2—1 3]0 1
9ER 2759k BlJOA/\—B] SWF B | BA/vk | ] & JE&
ATS5ILB x0—3 X1—2 0O3—0 |1]2] 3
JOX/\—B 03—-0 02—1 02—1 3[o] 1
SWF B 02—1 X1—2 02—1 21 1] 2
B X/\R Xx0—3 X1—2 X1—2 _J0]3] 4




